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ŷ = α̂+ β̂x
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α̂ = ȳ − β̂x̄

β̂ =

n�
i=�

xiyi − nx̄ ȳ

n�
i=�

x�i − nx̄
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β̂ =
Cov(X ,Y )

Var(X )
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rXY =
Cov(X ,Y )

DP(X )DP(Y )

��������� ����� � �������� ������� ����� rXY � β̂

rXY =
DP(X )

DP(Y )
β̂
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SQtot = SQReg + SQRes

������ � �������� ����� ��� ������� ����� � SQReg ��� � β̂.

SQReg =
n�

i=�

(ŷi − ȳ)�

���

ŷi − ȳ = α̂+ β̂xi − ȳ = ȳ − β̂x̄ + β̂xi − ȳ

ŷi − ȳ = β̂(xi − x̄)
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SQReg = (β̂)�
n�

i=�

(xi − x̄)�
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SQTot =
n�

i=�

(yi − ȳ)�

SQRes =
n�

i=�

(yi − ŷi )
�
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������� �� ��������� Y � ����� �� ������ �� �� ��������� � ��

����������� �������� � X � ����� �� ����������

���� ��� ������� �� n = �� ���������� ��� �������� � �������� ����

�� ��������� ����

ŷ = ��.�+ �.�x

������� ��� Var(X ) = �� � Var(Y ) = ��.�� �
n�

i=�

x�i = �����.
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rXY =
DP(X )

DP(Y )
β̂ =

�
��

��.��
(�.�) = �.���
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R� = �.��
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SQTot = (��)Var(Y ) = (��)(��.��) = ����

SQReg = (β̂)�
n�

i=�

(xi − x̄)� = (�.�)�(��)(��) = ���

SQRes = ����− ��� = ���
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